
–

–

–
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–
–

-
–

5–

–

(tp<t , tp 1).

–
X ± M P t

7, 68 ± 0,25 1,18
0,05 1,19 8

7,06 ± 0,45 1,93
0,05 8,40 68

11, 83 ±0,34 1,44
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p

(7,68

–
– 13,41

p>t , tp
2).

–
X ± M P t

7,68 ± 0,33 1,45
0,05 1,25 7

7,12 ± 0,30 1,24
0,05 10,98 88

13,41 ± 0,49 2,01
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–

–

–

–6

p<t , tp

3).

–
X ± M P t

8,00 ± 0,41 1,90
0,05 0,47 4

7,67 ± 0,58 2,47
0,05 6,03 69

13,00 ± 0,67 2,82

– -
–

5–6

p p < t ; 
tp

4).
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p

(“
–

X ± M P t

7,74 ± 0,66 2,87
0,05 1,11 10

6,94 ± 0,29 1,18
0,05 9,63 59

11,06 ± 0,32 1,31

–

–

1.

2.
,

.
3.

4. –6

1.

-
– – 13–18.
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2.

– – 2–3.
3.

– 1966. – 6. – 62–76. 
4. -

– – 364–365.
5. -

– – 23–27.
6.

–
2001. – 1.

7.
– : – 652

8.

– – 63–66.
9.

– – 5–6.
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